Accelerated Precalculus Name:

-Level 3: Determining a Missing Méasurement Using the Laws of Sines & Cosines

Match each problem to an answer found in the list of solutions.

1. A=58°,C=94°, b =17. Find a. ' Solutions:
A No Triangle Exists
B 1220
C17.1
2. B=107.2°, b=17.2, c=12.2. Find C.
| ‘ D 30.7
E 42.7°

F 69.9° or 110.1°

3. A=65°,a = 55,b=>57. Find B

s

4, a=15, b=28, c=17. Find B.

5. A=51°, b=15, c¢=22. Find a.

6. B=47°, b=10, c=16 Find C
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Solutions:

A No Triangle Exists
B 22°

Cl17.1

D 30.7

E42.7°

F 69.9° or 110.1°

3. A=65° a = 55,b = 57. Find BC
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5. A=51°, b=15, c=22. Find a. |
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